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ey & fow Hﬁﬁ?f / Instructions to the candidates

g TEOdET qReaE & w9 A Bl GAR weel WU |l anafdial o Aeaiee fear emoen /

The question paper is in the form of test booklet. All candidates will be assessed on

identical questions.

3o forer g @il 33l &l T B9 Tid & WA e § TF HAAN e 3T FS

e 9ET GHECT gl & udld e des o fr AT T P 3 w0 ar st
I I 3 T8 3rsreft Forea ormell Hestt 8 WeTTel T [T / A separate OMR answer sheet with

carbon impression copy is provided to all candidates for answering. After completion of the
test, the carbon impression of the OMR sheet will be detached and handed over to candidate by

the invigilator which should be carefully retained by the candidate for all future reference.
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ar o9 230 V ey el 7 230V, 100 W 3R 230 V25 W ﬁ@"s’fgﬂ Al IR T e~ = =T
AT HAT TgT B

Two lamps 230 V, 100 W and 230 V 25 W are connected in series across 230 V. Which of the
following statements is correct?

(8) 25W T THAPIAT B/ 25W lamp will glow brighter

(b) 100 W ST Tahrer BT/ 100 W lamp will glow brighter
(c) 2T ofT SIIET =W / Both lamps will glow equally bright
(d) 25 W o9 wrgar g1 SATUeN /25 W lamp will fuse out

DOL TI F &M 7.5 hp 3 BT 415V, 11.2 A AT & q%F 319 R Hr Fwler $r

ST g, ——— B
Backup fuse rating recommended for 7.5 hp 3 phase 415 V , 11.2 A motor with DOL starter is
o

(@ 78A (b) 20A
(c) 32A (d 10A

39 Ushel ol Wi & ol el 5 HP HIX ¥l g 58 3uawor &0 Sisr s
gy

What device has to be added for running three phase 5 HP motor from the available single phase
source?

(a) ¥R/ Ieel TTeT / STAR/DELTA starter
(b) W/W / Inverter /UPS

(c) SI3IT el / DOL starter

(d) |HT sT&f / Not Possible

I ol 3l Sl & SaagioNsd &I TR, Tolc & FUd T & FA giar g ar &t
F—

Following will occur if the level of electrolyte falls below plate’s upper level in a Lead acid battery.

(@) 39T TolT o5 Tehe H gRafda / open plates are converted to lead sulphate
(b) ¥ $r Sa=-31afT FA & G ¥ / life of the cell is reduced

(c) SedI hI &THaT e & AT & / capacity of the cell is reduced

(dy @ (a&b&c)/ all(a&b&o)
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11 KV/433 V, 3 MVA, 50 Hz TY 313 giaBIR & YISAY qUT &l oigel shic ofaredar Fa1

et

What is the approx. Primary full load line current of 11 KV/433 V, 3 MVA, 50 Hz step down
transformer?

(a) 160 A {(b) 4617 A

(¢) 11000 A (d) 4000A

“Creeping” phenomenon is observed in

(a) ﬁ:’lﬂ}gﬁ Tceh HICY / Power factor meter
(b) dre T¢ HeT / Watt hour meter

(c) dreHIEY / Wattmeter

(d) 3THARY / Ammeter

IR & grEfde & Ay Rer & 3magsar g gl

Equilizer rings are required in case the armature is having winding.

() o7 @Bl / lap winding (b) dg ST/ wave winding
(c) 3ecl FTSI39T/ delta winding (d} §U@IT=FH SS9 / duplex winding

T W AU & J9ART ST AT F4 B

What is the temperature limit of class “H’ insulation?

(@) 155°C (b) 135°C
(c) 120°C (d) 180°C

SWG 22 R (mm #) & AT a8 0 ¥

What is the nominal diameter of SWG 22 wire in mm?

3

(a) 1.016 (b) 1219
© 0711 (d) 0914
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10.

11.

12.

13.

DC input AC output

v

deqd (Feifdeehen) ool 3 3 ‘Rwg’ gafar ¥

What is the above ‘symbol’ represents in electrical systems?

(a) I9vH" / UPS (b) ORRMTF / Rectifier
(c) aRade® / Inverter (d) sl / Battery

|G I Dyl1 giaweR (Fudia fam wfger =) & LV wrt HV &1 %1 R @t )

What is the phase shift angle of LV w.r.t HV in the vector group Dy11 transformer? (Anti clock
wise vector rotation)

(@ +30 (b) 30
() —180° d)  +60

11 kV/433 V& HRFRT TESER dd # #3745 BDV &1 ¥
Minimum BDV of a good 11 kV/433 V working transformer oil shall be

(@ 100kV & HRF / More than 100 kV
(b) 30kV & S / More than 30 kV
() 11kV & & / Less than 11kV

(d) 433V & & / Lessthan433 V

11 kV/433 V fIeROT giawieir 9 100/5 A CT i TraffE & Se7 g3 & R Al efadh

&N HAFT SAmps &, d TaaR0T TSR F kVA AT w7 §)

What is the kVA load on the distribution transformer if the secondary of the 100/5 A CT connected
in primary of 11 kV/433 V is 5Amps?

.

(a) 866 VA (b) 760 VA
(©) 1900 kVA (d) 760 kVA
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14, forehy AT gERT IeAfSA &vd HFAE (FAFE) FOHQU AT g@NT faggd @ud
gl

The ratio of luminous flux emitted by a lamp to the power consumed by the lamp is

(a) oFH / Lux (b)  &IocT &THAT / Luminous Efficacy
(¢) 9EITtT Teica / Illuminace (d)y TIARIATE / CRI

15. forg v gRUY & vsade &1 YAET fHAr S g

In which lamp circuit, igniter is used?

(a) AfAEITCaSeler TgF ligT / Fluorescent tube light
(b} TSSST &9 / LED lamp

(c) T eSS ST / Metal Halide lamp

(d) TeEdTHAT d9 / HPMYV lamp

16. #1E Had A YFY & U & Foes frar rr &1 ¥g @ gfaa T gl
A Cable is designated as YFY. What does it indicate?

(a) T TrEE O AU B aEyEde 3eE DT e g/
Copper conductor PVC insulated Formed wire/flat armoured PVC outer sheathed
(b) TR TR Y FeAFCS W3S Hg Ay fds/
Aluminium conductor Y connected round armoured PVC sheathed
(c) T s XLPE A4 T 3Ms PVC s/
Copper conductor XLPE insulated flat armoured PVC sheathed
(d) TeaARTA dres XLPE AT Fele 3AS XLPE fdg/
Aluminium conductor XLPE insulated flat armoured XL.PE sheathed

17. %EQWACqﬂwéaﬁvﬁmmﬁﬁﬁﬂmﬂé‘r%l

For a purely inductive AC circuit which of the following statement is true?

(a) 3THTEY ﬁ?.:{l)?l’ T & / Apparent power is zero

(0) wiafraneler afed == & / Reactive power is zero

(¢) afywy Fr afera ﬁ?{ﬂ?—l’ Sl % / Active power of the circuit is zero
(d) ufderer = & / Tmpedance is zero
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18.

19.

20.

21.

15 T BT 10 Wi & T 51 § 3R 60 Hz fegd Aqfd @ 37 gian 8, o i
T & el 9T 3me Ay ——— g

A ceiling fan is wound for 10 poles and connected to 60 Hz supply. What is the half speed when the
speed regulator is selected?

(a) 360 RPM (b) 450 RPM
(c) 300 RPM (d) 720 RPM

fora T v fagga BT F afg afewr b @fer fogga € o ey aly & &y
H T UL T

Which is correct, in the given below power triangle with respect to the power vectors if vector

‘b’ is active power?

(a) a:kVAr b:kVA c kW

(b) a:kW b:kVA c:kVAr
(¢) a:kVAr b: kW c:kVA
(d) a:kVA b: kW c¢: kVAr

22.5kW, 415V, 3 el SCIM HIeT, Y/D KT, §d THal A 3ilelis & fav s#ffma OLR
IR & = g

What is the preferred OLR setting range for a 22.5 kW, 415 V, 3 Phase SCIM motor, Y/D starter,
against over loads in amperes?

(@ 9-15 (b) 20-33
(c} 14-23 (d) 30-50

Al FT 9 T A3 W 1100 rpm. F € 18 W 1050 rp.m Tedl §, a A & aifd
foreiror B

The speed of a motor falls from 1100 r.p.m. at no-load to 1050 r.p.m. at rated load. The speed
regulation of the motor is :

(@) 23% (b)  4.76%
©) 6.77% (d)  8.84%
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22.

23.

24,

25.

26.

4 AF TR TS F gl HRC FsT &I g’ Hell S &
HRC Fuse is considered better to use compared to standard wire fuse for purpose.

(a) 3NaTalls T&IoT %’?—JT / Over load protection

(b) 3% wIec / Earth fault

(c) gLETcHD eife gfdhe HiT %’Fof / Safely interrupt short circuit current
(d) &l H AT / Easy replacement purpose

3.7 KW/5 hp 1440 RPM ¥ 9 #1eX & FUR & 9107 0.95 T 31 3cTeed HA & folv
kVAR # FTer ——— HUTRA &7 ¢

What is the approximate capacitor in kVAR to be added to 3.7 kW/5S hp 1440 RPM agriculture
pump motor for power factor improvement near 0.95 lag?

(a) 2kVAR (b) 2.5 micro farad

() 3.7kVAR (d) 5kVAR

T A feTd THPRAT & ToT W G faw g
Among the following, which is not seen on the name plate of a Power transformer?
(@) | T / Vector group (b) I /Duty

(c) eI T / TInsulation class (d) FH HIgt / Frame size

AR Qe ey (TE) F T TAET VU A g RIS & 3R § ——|

When the reading has to be noted during the general insulation measurement with Megger
(insulation tester)?

(a) Ts TA=IT 9T / Atone minute (b) Uk Ahs TX / At one second
(c) 153%s IR / At 15 second (d) 10 fAAC 9T / At 10 minutes

R 230/6 V, 50 Hz CE®IR & oAl aRfEw @@ 110 v, 50 Hz faegd mafd @
HRRT B Jrar §, O gfRd 3Eeye deesd ————— &N

The primary winding of a 230/6 V, 50 Hz transformer is energized from 110 V, 50 Hz supply. The
secondary output voltage will be 1

(@ 6.0V (b) 286V
(c) 3.0V (d) 12V

8 Past Code No. 15



FEH

-;‘.. garer gae 37aflReT &g IR/ SATISH DHAWAN SPACE CENTRE SHAR S ET
i=re

aFifaga &y (a‘qg?r) / TECHNICIAN ‘B’ (ELECTRICAL) E

27.

28.

29.

30.

XLPE helel T 3eIAc TlelellcHs AMIHI T Bl
What is the allowable operating temperature of XLPE cable?

(@ 90°C (b)  60°C
(c)y 70°C (dy 50°C

AC A= A, 5 &7 O fradr g1, smgfed & @91 W amaia

Which of the following losses in AC Machine is depending on square of the frequency?

(a) TeeeRAT gIfer / Hysteresis loss
(b) 331 &IT gIfd / Eddy current loss
(c) =Yult g1fa / Frictional loss

(d) @ gt / Copper loss

3% T&eIT & & A 4 Nl 60 Hz 3 %ol THBYA Fol $590a Al 2 VX 8RT Hgfed
FT Bl

What is the rotor current frequency when the slip is 3% for a 4 pole 60 Hz 3 phase squirrel cage
induction motor?

(@) 50Hz . (b) 3Hz
(c) 1.8Hz (d) 15Hz

FW A Ul 99 F IUAET &G 100 hp, 440 V, 50 Hz, 3% TR ¥ o3 TR Fol

g8 AR ] T TR & Ty & Rwifer & sl #

Which type of starter is recommended for 100 hp, 440 V, 50 Hz, 3 phase Star connected squirrel
cage induction motor for agriculture water pump application?

(a) Tadlfeld TABIFAR TTIET / Auto transformer starter
(b) TE/SeeT / Star/Delta

(c) FHTH / DOL '

(d) JrEIEIU® 389 / VVVE drive

9 Post Code No. 15
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Silk

32.

33.

34.

Fg & qota: sferdn g & @t 230V, 25W Aéred Eaes aq (fheme) oF &1 a9re
wfaier & gram|

What will be the approximate resistance of 230V, 25W incandescent tungsten filament lamp when
the lamp is full bright?

(@) 2130Q (o) 0430
© 23Q (d) 265Q

aﬁédﬁsrmov,sommﬁagamﬁmmﬁ%mm fSoredd oo amsféar &g
2.5 kW @ 0.9 pf AfffeT W R-¥e, ATH @15 5 kW @ UPF W Y- 3R 3-sf SCIM, 5 kW
@ 0.8 pf AFFer drar &, WA &, A A3 &g Fo [@ega F @I F4r &

A plant is running on 400 V, 50 Hz LT supply for 10 hours. The load comprises lighting load of
2.5 kW @ 0.9 pf lagging on R-phase, heater load 5 kW @ UPF on Y-Phase and a 3-Phase SCIM
drawing 5 kW @ 0.8 pf lagging. What is the total energy consumption by the loads?

(@) 120 units (b) 100 units
{c) 125 units (d) 12 units

RLC #@enm 9@y aat & fow sfoier 8 , aia ofderd 10 0, 3R SRoT 9iderd 4 O
¥ oeT ¥, & it @ wfdErer #R e gew g i

A resistance of 8 3, a capacitive reactance of 10 Q and an inductive reactance of 4 €2 are connected
to form a series RLC circuit. The impedance and power factor of the circuit will be,

(a) 16.12Q, 0.6 lagging (b) 109, 0.8 leading
(c) 10, 0.8 lagging (dy 16.12Q, 0.8 lagging
HFeTT fegd Fae & diecs § FafAd AR 9RT &1 gfeer feufa g

In Under Ground power cables the vector position of charging current with respect to Voltage is

(a) lags the voltage by 90° (b) leads the voltage by 90°
() lags the voltage by 180° (d) leads the voltage by 180°

10 Post Code No. 15
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35. foe=T Taega (Feifargeh) womell & & fhad ®IE UsE @ 91T gl

‘Ferranti’ effect is observed in which of the following electrical systems?

(a) T TIAT TR H/ All AC conductors

(b) 3MaTcldg TTEEET H / Overloaded HVDC

(c) Fooh oS3 TIAITHY JTLOT H/ Lightly loaded HVAC transmission
(d) HIY FaT F/ Solar Power

36. $RT % el §IF F 5T sATFCHLE H ATTP dlecsl H Sieled T ST gl

The standard voltage at which electricity is generated in the power plants of India 1s

(@) 415V (b) 765kV
(c) 132kV (d) 11kV

37. & Ru av oftay & getar = &

The given below circuit represents

R, P4 , %z
=12
O et Y =
I Yo I,
Vl E1 5E2 RZ,
R, [t]r_} SN
o
(a) TrEwRR 99y & SEX / Equivalent circuit of Transformer

(b) TTROT AATST YRUY & sR&X / Equivalent circuit of Transmission line
(c) 9XOT HAe g9y & ST / Equivalent circuit of Induction Motor
(d) BRI AreY 99y & SER / Equivalent circuit of DC motor

38. fagga Foll Faer H Hlelehdl B el & YA ————— B9 & faHar Sirar g

The Copper as a conductor for electrical power cables is used as form.

(@) ITHAITH & WY FHT / alloy with chromium

(b) ] QEIJFI' { hard drawn
(c) B33 3T TR /hardened and tempered
(d) 3aTelsT / annealed

11 Post Code No. 15
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39. =& @z vdis e qofa: 3mafa g 8, at R wele F 1 @ § ————|

When a lead-acid battery is in fully charged condition, the colour of its positive plate is

(@) 9T6Y Yel/ dark grey (b)y ToIad (Mear) / Silver
(c) qoid: 23 / Pure white (d) TEY $[¥ / dark brown
40. 16 A, <C’ TRT, MCB 1 Qe Tfhe FlT &l Hed ST ————— &l

The short circuit current rating of a 16 A, ‘C’ type, MCB is approximately

(@) 16 A (by 10kA
(c) 100kA (d) 16 times the rating

41, mTgHARY T Ao & REET & 7€ &, 39 AW FA T

The readings on a micrometer screw guage is shown below. What is the measurement?

—1 a5
0
illll o
35
=30
(a) 382 (o) 2.88
(©) 4250 (d) 238

42. mﬁwwzﬁ@%ﬂmﬁmﬁgﬁammﬁﬂl

Main components in an ordinary electronic fan regulator used in houses are

(a) 3T arcal UfdAY / High wattage resistance
(b) cIfaTed U9 3R / Transistor and diodes

(c) 3TMESiEIer /IGBT

(d) ¢fgeh TD 3MAIS / Triac and Diode

12 Post Code No. 15
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43.

44,

45.

46.

Ws &HIT In A B> 3fATETOT & MCB # R ega Fear 2 §

What is the instantaneous tripping current of ‘B’ characteristic MCB with In as rated current?

(@) Below 1 xIn (b) 3-5In
(c) 10-201n () 1-3In

3 % TR ¥ 3w A3 F 20 A FF Fe ¥ AR Sear G & 9y @ o
FR & & 3 %ot dloc F T ¥, A ot e T B

In a star connected 3 phase resistive load, the phase current is 20 A. If the same resistances are
connected in delta and same 3 phase Voltage is applied, what is the phase current?

(@) 11.54 A by 20A

() 1732A (d) 34.64A

Ife aer B gfaRieswar 1 (Uh) & o e #1 CIEH & Jolell A W Fafde
EIGRPET T

What is the relative resistivity of Aluminum compared to Copper if copper resistivity is 1 (one)?

(a) 2.8 (by 1.6

(c)y 44 (dy 0954

Al fHae U, V, W F WY TR & 35 Fard ol §590e AlY H Az giaRe
Tt UV =0MQ; VW =0 MQ; UW =0 MQ; UE =200 MQ; VE =200 MQ; WE = 200 MQ,
WE =200 MQ. §, dT #leX &1 S &1 F7 g1

The insulation resistance values of a Star connected squirrel cage induction motor with motor
terminals U, V, W are UV = 0 MQ; VW = 0 MQ; UW = 0 MQ; UE = 200 MQ; VE = 200 MQ;
WE =200 MQ, WE =200 MQ. What is the health of the motor?

(@) HAET AT HIH el I I@T & / Motor insulation failed

(b) HIeX S & / Motor is healthy ,

(c) HEI H FIT T Frafaqr Qe &1 91T & / One of the windings got shorted to body
(d) AT H FHIS TS arsfzar el a71g7 & / One of the winding got opened

13 Post Code No. 15
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47. wﬁ%%m@_—wmmm%@h

The most appropriate method to put off Electrical fire is by using

(a) mﬂgﬁm HEATAA / CO; Extinguisher
(b) I / Foam

(c) T / Water

(dy drdrdr ar3sy / PVC powder

48. qﬁﬁﬁﬁaﬂﬁmﬁﬁ:ﬁwaﬁqmﬁw (GmEdr §.) & Fh ———— g T1fevl
An electrical light fitting for under water application should have which degree of Protection
(IP No) ?
(a) 00 (b) 68
(c) 55 (d) 64

49. R T Fi TEEHET (@EAE) F Bgra F oA & forar ST B
Core balance current transformer (CBCT) principle is used in
(@) ELCB (b) MCCB
(c) ACB (dy VCB

50. = wfdg fEcEToen o T gafad Bl

The famous characteristic curve below is related to

T
T

(a) UcaTaid® E&TdT / Alternator efficiency
(b) T&dIT Geh / Swing curve

(c) 'l%l'c'\?fl:?f W / Electro magnetism *
(dy afga &% / Lightning curve

14 Post Code No. 15
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ol o & fAC T / Space for rough work
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10.

11.

QWWHW%W/MWEFHTH%‘HTW STl fafdy 3cav {AweT (1), (b), (o)
qUT (d) T EiT| 3T F U & 3cok @Y & / Bach objective question is provided with a text

and/or ﬁgures wherever applicable with multiple answer choices (a), (b), (¢) and (d). Only
one of them is correct.

s e W RT U IRt @ ema d udl AU 3eR P RERT F# qu
311'@1?311'(%ﬁfwﬁaﬁ%gmmmmﬁﬂqﬁzmaﬂﬁmﬁ/madthe

instructions on the OMR sheet carefully. Use only Blue or Black Ball Point Pen for
writing on OMR sheet and marking your answers.

asfr FEqiase SR & 9 F W 3ok 8 WA e 3T B, FIY Feo] 7 & W YT AUl
AT 3cadl W TF 3 Her swerw [ All objective type questions carry equal marks of
THREE for a correct answer, ZERO for no answer and minus ONE for a wrong answer.

& 2T F [Afay 3ol o Idd 3ca] A S|

Multiple answers for a question will be regarded as a wrong answer.

q%agii?m%aﬁmﬁmfrmﬁAmBmcmDmEﬁgﬁHﬁmwz{a‘r
mﬂmamﬁﬁvwmwwﬁ(ﬁaﬁ)ﬁ&%ﬁﬁmm%lﬂwamw
Ica) Qe $1 St A8 B et / Question booklets have been marked with A or B or C

or D or E on the right hand top corner, which is mandatory to be written on the OMR sheet
in the box and bubble appropriately, failing which, the answer sheet will not be evaluated.

HaRTF @ IX T B & Ifeawt i U v R T F1 ST B FHE &1 e H A
ofie & & STudl / Space available in the booklet could be used for rough work, if required.
No separate sheet will be provided.

mmamé?ﬁvagﬁé’raﬁﬂaﬂréﬁ,ﬁwmmaﬂmaﬁlmmmﬁ
BT &L AT 9 H HioeT U g F Tha &1 / Do not waste time on questions, which are

too difficult for you. You can go on to other questions and come back to the difficult ones
later.

qﬁmﬂ:maﬁwmmﬁwgﬁf@aqﬂmmﬁamm&)mm
Wﬁﬁm*‘rﬁqéw%@hsﬁmﬁmﬂfgﬁ%maamlmmeendof

the test (1) Written test call Letter(s) with photograph pasted on it and (2) OMR
Answer Sheet shall be returned to the invigilator and shall not be carried by the
candidate under any circumstances.

aTST faveT ¥ g B gee A e & &, 39Sk faEwer € wure gFm/ In case of any doubt
in any question between the language versions, English version will prevail.

ek ¥
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